JIINTSO EDUCATION

GENERAL KNOWLEDGE TALENT SEARCH OLYMPIAD(GTSO) 2015 - 2016

INTSC
~ STAGE - 2 TIME : 60 min.
CLASS : IX Max. Marks : 50
Instructions:
= Fill the OMR sheet completely and carefully.
5 Each question carries one mark and has only one correct answer. Y4 (one fourth) marks will be
deducted for indicating incorrect response of each question.
= The question paper contains 50 questions to be answered in 60 minutes.

1. The formation of ozone hole in the Antarctic region has been a cause of concern. What could be
the reason for the formation of this hole? [ ]
1) Presence of prominent tropospheric turbulence; and inflow of chlorofluorocarbons
2) Presence of prominent polar front and stratospheric clouds; and inflow of chlorofluorocarbons.
3) Absence of polar front and stratospheric clouds; and inflow of methane and chlorofluorocarbons.
4) Increased temperature at polar region due to global warming

2. Which of the following types of computer is mainly used by big corporate and government indus-

tries for bulk data storage ? [ ]
1) Personal Computer (PC) 2) Mainframe Computer
3) Embedded Computer 4) Programmable Devices

3. Which of the following are the different stages of water cycle ? [ ]
1) Evaporation i1) Transportation iit) Condensation iv) Precipitation
1)1, 11 and iii 2) ii, iii and v 3)1,1i and iv 4) 1, ii, iii and iv

4.  The year 1995 is the Golden Jubilee year of which of the following international organisations?

1) ASEAN 2) GATT (now WTO) [ ]
3) NAM 4) UNO

5. Match the following. [ 1
1) Tropical Evergreen Forests a) oak , pine eucalyptus
2) Tropical Deciduous Forests b) chir, pine cedar
3) Temperate Evergreen Forests c) sal, teak, shisham
4) Coniferous Forests d) rosewood, ebony, mahogany
I)i-a,ii-b,iii-c,iv-d 2)i-d,ii-c,iii-a,iv-b
3)i-c,ii-d,iii-b,iv-a 4)i-b,ii-c,iii-d,iv-a

6.  Which is the principal organ of the United Nations that is virtually accomplished its object?
1) The General Assembly 2) The International Court of Justice [ ]
3) The Trusteeship Council 4) The Security Council

7. Who was the first philosopher received Bharat Ratna? [ ]
1) Sarvapalli Radhakrishnan 2) C.Rajagopalachari
3) C.V. Raman 4) Jawaharlal Nehru

8. Which of the following countries is not a member of G-15? [ ]
1) Indonesia 2) Jamaica 3) Peru 4) Colombia

9.  The person belonged to Andhra Pradesh, at present working as the Chairperson of C.V.C is
1) Vijai Sharma 2) K.V. Chowdary [ ]
3) Mr. Krishna Choudhary 4) A.S. Kiran Kumar
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10.

The Oscar Award was won 36 times by [ ]
1) Charlie Chapin 2) Alfred Hiftchcock  3) Walt Disney 4) Kurosawa

11. Nirmal Gram Puraskar awards given to villages which [ ]
1) are 100% open defecation free
2) provide clean drinking water to villagers
3) are free from communal distinction
4) abolish untouchability

12. Dhanvantari Award is given in the field of [ ]
1) Medical Sciences  2) Literature 3) Music 4) Cinema

13.  The headquarters of Forest Survey of India (FSI) was set up at [ ]
1) New Delhi 2) Bhopal 3) Dehradun 4) Dispur

14.  Who among the following is the recipient of the first Rajiv Gandhi Sadhbhavana Award?
1) Lata Mangeshkar 2) Mother Teresa [ ]
3) Pt.Ravi Shankar 4) Sunil Dutt.

15. Ramon Magsaysay awards are given in honour of former President of [ ]
1) Indonesia 2) Thailand 3) New Zealand 4) Philippines

16. A Customs Union or Zollverein was formed at the initiative of Prussia in the year [ ]
1) 1834 2) 1835 3) 1850 4) 1843

17. The world's largest money award is [ ]
1) Nobel 2) Grammy 3) Templeton 4) Volvo

18.  From which country Indian Constitution borrowed suspension of “ Fundamental Rights during
the Emergency”? [ ]
1) Australia 2) Germany 3) Canada 4) USA

19.  Which of the following was a factor in the rise of Napoleon ? [ ]
1) Fall of the Jacobin government 2) Robespierres' Regin of Terror
3) Political instability of the Directory 4) Nationalist forces

20. Who is considered to be “The Father of Artificial dntelligence” ? [ ]
1) Alan Turing 2) John Mc Carthy 3) George Boole 4) Allen Newell

21.  When milk is churned, cream gets separated due to [ ]
1) Gravitational force 2) Frictional force 3) Centripetal force 4) Centrifugal force

22.  Which of the following generations of language will likely include the languages of the feature?

[ ]

1) first generation 2) second generation or third generation
3) fourth generation 4) fifth generation

23.  Name the instrument used to measure relative humidity? [ ]
1) Hydrometer 2) Hygrometer 3) Barometer 4) Thermometer

24.  Which committee had made the important recommendation to provide a Universal Electronic
Bank Account (UEBA) to each Indian citizen above the age of eighteen years by 1 January 2016?
1) Nachiket Mor Committee [ ]
2) PJ. Naik Committee
3) Raja Chelliah Committee
4) Shyamala Gopinath Committee

25.  Who was known as “ Man of Blood and Iron”? [ ]
1) Napoleon 2) Bismarck 3) Ho Chi Minh 4) Sir Walter Scott
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27.

28.
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31.

32.

33.
34.

35.

36.

37.

38.

5™ Generation Computers are based on [ ]
1) Artificial Intelligence 2) Programming Intelligence

3) System Knowledge 4) Large Scale Integration

The ideal of internationalism involves [ ]

1) Total abandonment of nationalism

2) Partial abandonment of nationalism

3) Adequate recognition of cultural distinctiveness of nations
4) Derecognition of cultural distinctiveness

By which among the following ways , the Constituent Assembly generally arrived at decisions on

various provisions of the Constitution ? [ ]
1) Simple majority 2) Two third majority  3) Consensus 4) Casting vote

The advocates of deliberative democracy emphasise [ ]
1) Parliamentary sovereignty 2) Judicial autonomy

3) Executive supremacy 4) Popular participation

Which among the following is not a feature of Indian Constitution? [ ]
1) Parliamentary form of government 2) Federal form of government

3) Dual citizenship 4) A written Constitution

The Unitary State is stronger than a Federal one because all powers of government are concen-
trated in the hands of one single set of authorities. Hence there is [ ]
1) Absence of conflict of authority and responsibility

2) Absence of simplification of governmental organization

3) Overlapping of jurisdiction

4) Duplication of functions

Which organ of UN is responsible for coordinating the work of its specialised agencies?

1) General Assembly 2) Economic and Social Council [ ]
3) Security Council 4) Secretariat

The International Criminal Court is located at— [ ]
1) Geneva 2) Hague 3) Liondon 4) Washington
Headquarters of World Bank is located at [ ]
1) Washington D.C 2) New York 3) Rome 4) Geneva
"Everything for the state; nothing against the State, nothing outside the State” sums up the
philosophy of [ ]
1) Marxism 2) Fascism 3) Fabian Socialism  4) Capitalism
Headquarters of World Health Organisation is located at [ ]
1) Rome 2) Geneva 3) New York 4) Nairobi

Among the following, which committee appointed by Govt. of India on educational reforms?
1) Wanchoo Committee 2) Kothari Commission [ ]
3) Chellaiah Commission 4) Rangarrajan Commission

Which one of the following is NOT correct about ‘Dyarchy’ introduced by the Government of
India Act of 1919 ? [ ]

1) It was a system of dual government at central and provincial levels

2) Provincial subjects were divided into reserved and transferred

3) Governor appointed ministers from the elected members of the legislative council

4) Governor had the power of overriding the majority decision
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47.

48.
49.

50.

Which is the deepest trench in the world ? [
1) Java 2) Mariana 3) Naves 4) Ryukyu
Which of the following is not a principal organ of United Nations Organisation ? [
1) Trusteeship Council 2) Economic and Social Council

3) International Court of Justice 4) Human Rights Commission

We celebrate Martyr’s day on [
1) Jan, 31% 2) Jan, 30® 3) Jan, 28" 4) Jan, 25%
Which of the following sports person got Bhatat Ratna? [
1) Sachin Tendulkar 2) Kapil Dev

3) Viswanathan Anand 4) Abinav Bindra

Which article relates to the establishment of Finance Commission? [
1) 280 2) 51A 3) 362 4) 368

Which aspect of imperialism does the dependency theory emphasise ? [
1) Economic 2) Political 3) Cultural 4) Strategic
Light year is a unit of [
1) Time 2) Light 3) Distance 4) Intensity of light
Vermiculture technology is used in [

1) Production of fish ~ 2) Animal Husbandary 3) Poultry Farming 4) Organic Farming

Identify correct statements from the following. [
1) The Constitution defines power of the legislative houses.

i1) The Constitution cannot be changed under any circumstances

iii) Ideas that are in the Preamble are reflected in the design of institutions.

iv) Laws for the entire country are designed centrally.

1)iandii 2)ii and iii 3)iand iii 4)iandiv
Pollination by birds is called [
1) autogamy 2) ornithophily 3) entomophily 4) anemophily
Who among the following was not a member of the Constituent Assembly ? [
1) Mahatma Gandhi ~ 2) Jawaharlal Nehru  3) Rajendra Prasad 4) Sarojini Naidu
Under the constitution of India, who are the ultimate sovereign? [
1) Indian people 2) PM of India
3) President of India 4) All elected representative of India
_m_

]
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